Test 2 (Unit 3)

Question 1.
Order the following numbers from least to greatest.
63,2, vad, 61
A 2L iz 61,63
31 5
B. G.I,g,G.Q,@
31 5
C. §,61,62, Va4
31 5
D @,g,G.l,G.Q
Question 2.
Simplify the following expression.
x2 + 14z + 48
r+ 6
A 2+ 24x 4 54
B. 8
C. xr + 6
D. 2 + 20x + 42
Question 3.
Simplify the following expression.
(3x - 6)(3x + 6)
A 9x2-36x-36
B. 9x2+36x-36
C. 9x2-36
D. o9x2-12
Question 4.

When factored completely, which is a factor of 3x° - 9x2 - 12x?

A (x-3)
B. (x-4)

C. (3x-1)
D. (3x-4)
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Question 5.

Simplify the expression given below.

(2023 — 6) — (1223 — 35)

2023 — 112 + 41
1823 — 922 + 29
8x3 + 29

8x3 + 12z2 — 29

Cowm»

Question 6 .

Simplify:

223 — Bx2 — 6
“3x% 4+ 10z2 + 1227

£ #7106

Question 7 .

Simplify the following expression.
227 — 424
Qx4
A. 3 -2
B. —253

C. z3 — 4

D. 3 4+ 2
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Question 8 .

Simplify the following expression.

2 + 4x — 21
(z + 7z + 4)

A 1

B. £
c. £=I
D. £33

Question 9 .
Factor the polynomial below.
X2+ 7x+10
A. (x+2)(x-5)
B. (x-2)(x+5)
C. (x-2)(x-5)
D. (x+2)(x+5)
Question 10 .
Which binomial is a factor of x2 + 6x + 87
A (x-2)
B. (x+8)
C. (x+1)
D. (x+4)
Question 11.

A polynomial expression is shown below.
(4z% + 322 — 1) + (mz? + (322 + 1)
The expression is simplified to 15x5 + 4x* + 5x3 + 9x2 + 1.

What is the value of m?

A -3
B. 3
C. 5
D. 15
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Question 12 ..

Simplify the following expression.

(2x + 5)2
A 4x2_20x+25
B. 4x2+20x+25
C. 4x2+10x+25
D. 4x2+25
Question 13 .
Simplify the following expression.
3z2 — 75
x2 — 10z + 25
3r — %
A 3r T s
3z + 15
B. pe——
r—5
C. v
3r 4+ 15
D. 3z — 8
Question 14 .
Factor the following polynomial completely.
6x3 - 54x2 + 120x
A. 6x(x-4)(x-5)
B.  6(x3-9x2 +20x)
C. _6(x3+9x+20)
D. 6x(x-4)(x+5)
Question 15 .

Whitley has run 17 miles. His slowest running time for a mile was 10 minutes and 14 seconds.
His fastest running time for a mile was 7 minutes and 58 seconds. What is a reasonable
estimate for how much time Whitley has spent running these 17 miles?

A. 153 minutes

B. 102 minutes

C. 289 minutes

D. 187 minutes
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Question 16 .

65x3y4z4  25x3y4

What is the greatest common factor (GCF) of the monomials shown above?

A 325x344
B. 325x8874
C. 5x3y4
D. 5x3y424
Question 17 .
Simplify the expression given below.
(752 — 10z — 22) + (523 — 1522 — 16z + 15)
A 5z — 2212 — 6 - 7
B. b5x3 —8x2 — 28z — 7
c. —b5r? — 8zx? — 26x — 37
D. b5z3 — 8x2 — 6z — 37
Question 18 .
Simplify the following expression.
5r8 — 40516
b — Brl3
A, 10x3
B. bz?3
C. —528
D. 58
Question 19 .
Solve the following.
VIZ x 33 = 7
A 3B
B. °
c. ©
p. 18
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Question 20 .

Factor the following polynomial completely.
0.3x2-3.3x + 5.4
A. 03(x-2)(x+9)
0.3(x2 - 11x + 18)
C. 0.3(x-2)(x-9)

D. _03(x2+11x+18)

Question 21 .
Multiply: (2x = 5)(4x2 + 7x - 11)
A. 8x3-6x2-57x+55
B. 8x3-34x2-57x+55
C. 8x2-57x+55
D. 8x3-6x2-57x-55
Question 22 .
Factor the following polynomial completely.
-10x3 - 40x2 + 320x
A. 10x(x + 8)(x-4)
B. _10(x3 +4x2 - 32x)
C. _10(x2+8)(x+4)
D. -10x(x +8)(x - 4)
Question 23 .
Simplify.
V200
A. 20¥10
B. 100v2
C. 10§2
p. 2VI0
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Answers
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